Probability Practice for Quiz Name: 7 il ‘S WS

1) A store sells a grab bag of 3 children’s toys. A bag contains either a duck, a fish, or a bird; either a
boat or a car; and either a red, yellow or a blue soap crayon.

a) Draw a tree diagram to show what the grab bags may contain.
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Now use vour tree diagram to answer:

b) How many different kinds of grab bags can be made? \ %’_7
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¢) What is the probability that a bag will contain a duck and a car?
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d) How could you have answered this question without making a tree diagram?
Ses aboye |

2) Bridgette is buying file folders to organize her school papers. The choices are endless at Staples! The
folders come in either letter or legal size and you can get no tab, regular tab or reinforced tab. The folder
colors are blue, green red, or yellow. How many different combinations of types of folders are available
for Bridgette’s organization madness? Show your math work!
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3) A hat contains separate pieces of paper for each letter of the word I:AB R;f\DOR. What is the
probability of randomly choosing the letter A and then the letter B, without replacing the first letter

chosen? Show your math work! o
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Regents Questions:
4 Given:
Set U = {8, Off LA}
I (
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If set B is a subset of set U. what is the (-mu])](-‘m(‘nt of set B?
(1) (0. P.S) (3) A, H. P) ?
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5) A spinner that is equally divided into eight numbered sectors is spun 20 times. The table below shows
the number of times the arrow landed in each numbered sector. Based on the table, what is the empirical
probability that the spinner will land on a prime number on the next spin?
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6) IfI create a computer password using four letters followed by 2 numbers, how many different
passwords can I create if I follow the guidelines below?

a) I use any four letters (A-Z) followed by any two numbers (0-9) and repetition is okay.
Ao A6 - -26 - 1O . |O =
b) Iuse any four letters (A-Z) followed by any two numbers (0-9) but I don’t want to repeat any letters

or numbers.
Ll A5 -24.23 - 109 =

¢) I want to start the password with a vowel (A, E, I, O, or U) but then I can use any letters and numbers

for the rest (and I can repeat letters).
502626 3b- 1010 =



